BULLETIN OF MATHEMATICAL ANALYSIS AND APPLICATIONS ISSN: 1821-1291, URL: http://www.bmathaa.org Volume 4 Issue 1 (2012), Pages 226-230.

# FUNCTIONS OF $\alpha$ -SLOW INCREASE

(COMMUNICATED BY HÜSEYIN BOR)

#### YILUN SHANG

ABSTRACT. The main aim of this paper is to generalize the functions of slow increase to  $\alpha$ -slow increase for any  $\alpha > 0$ . We investigate some basic properties of functions of  $\alpha$ -slow increase. In addition, the relationship between functions of  $\alpha$ -slow increase and those of slow variation are characterized.

### 1. INTRODUCTION

Functions of  $\alpha$ -slow increase are defined as follows.

**Definition 1.1.** Let f(x) be a function defined on the interval  $[a, \infty)$  such that f(x) > 0,  $\lim_{x\to\infty} f(x) = \infty$  and with continuous derivative f'(x) > 0. For  $\alpha > 0$ , the function f(x) is of  $\alpha$ -slow increase if the following condition holds:

$$\lim_{x \to \infty} \frac{f'(x)}{\frac{f(x)}{x^{\alpha}}} = 0.$$
(1.1)

Note that the special case of 1-slow increase is introduced recently by R. Jakimczuk [3, 4] as a tool to investigate the asymptotic formula of Bell numbers. Further development on the subject can be found in e.g. [1, 5]. Typical examples for functions of  $\alpha$ -slow increase are as follows:

- f(x) = x is of  $\alpha$ -slow increase with  $\alpha < 1$ .
- $f(x) = \ln x$  and  $f(x) = \ln \ln x$  are of  $\alpha$ -slow increase with  $\alpha \leq 1$ .

In the next section, we will study some basic properties for functions of  $\alpha$ -slow increase.

## 2. Some Properties

**Theorem 2.1.** Suppose that  $0 < \alpha_1 < \alpha_2$ . If f(x) is a function of  $\alpha_2$ -slow increase, then it is of  $\alpha_1$ -slow increase.

*Proof.* It is straightforward to see this by using (1.1).

**Theorem 2.2.** Let  $\alpha_1, \alpha_2, \beta > 0$  and  $C \in \mathbb{R}$ . If f(x) and g(x) are functions of  $\alpha_1$ -slow and  $\alpha_2$ -slow increase, respectively, then the following statements are true.

<sup>2000</sup> Mathematics Subject Classification. 26A06, 26A12.

Key words and phrases.  $\alpha$ -slow increase; slowly varying; function.

<sup>©2012</sup> Universiteti i Prishtinës, Prishtinë, Kosovë.

Submitted June 23, 2011. Published February 23, 2012.

- f(x) + C, Cf(x) and  $f(x)^{\beta}$  are functions of  $\alpha_1$ -slow increase.
- $f(x^{\beta})$  is a function of  $((\alpha_1 1)\beta + 1)$ -slow increase, if  $(\alpha_1 1)\beta > -1$ .
- f(x)g(x) and f(x) + g(x) are functions of  $\min\{\alpha_1, \alpha_2\}$ -slow increase.

*Proof.* We prove the second statement as an example. Others can be proved similarly.

By Definition 1.1, we have

$$\lim_{x \to \infty} \frac{x^{(\alpha_1 - 1)\beta + 1} \frac{\mathrm{d}}{\mathrm{d}x} f(x^\beta)}{f(x^\beta)} = \lim_{x \to \infty} \frac{\beta x^{\alpha_1 \beta} f'(x^\beta)}{f(x^\beta)}$$
$$= \lim_{y \to \infty} \frac{\beta y^{\alpha_1} f'(y)}{f(y)} = 0, \qquad (2.1)$$

which yields that  $f(x^{\beta})$  is of  $((\alpha_1 - 1)\beta + 1)$ -slow increase if  $(\alpha_1 - 1)\beta > -1$ .  $\Box$ 

**Theorem 2.3.** If f(x) is a function of  $\alpha$ -slow increase for  $\alpha \geq 1$ , then the following limits hold.

- $\begin{array}{ll} \text{(i)} & \lim_{x \to \infty} \frac{\ln f(x)}{\ln x} = 0;\\ \text{(ii)} & \lim_{x \to \infty} \frac{f(x)}{x^{\beta}} = 0 \ for \ any \ \beta > 0;\\ \text{(iii)} & \lim_{x \to \infty} f'(x) = 0. \end{array}$

Proof. To show (i), we obtain by L'Hôspital's rule that

$$\lim_{x \to \infty} \frac{\ln f(x)}{\ln x} = \lim_{x \to \infty} \frac{f'(x)x}{f(x)} \le \lim_{x \to \infty} \frac{f'(x)x^{\alpha}}{f(x)} = 0,$$
(2.2)

since  $\alpha > 1$  by our assumption.

To see (ii), let  $0 < \gamma < \beta$ . By virtue of (2.2), we have  $f'(x)x/f(x) < \gamma$  for x large enough. Hence,

$$\left(\frac{f(x)}{x^{\gamma}}\right)' = \frac{f'(x)x^{\gamma} - \gamma x^{\gamma-1}f(x)}{x^{2\gamma}} < 0,$$
(2.3)

for large x. Thus, there exists some  $0 < M < \infty$  such that  $0 < f(x)/x^{\gamma} < M$ . We obtain

$$\lim_{x \to \infty} \frac{f(x)}{x^{\beta}} = \lim_{x \to \infty} \frac{f(x)}{x^{\gamma}} \cdot \frac{1}{x^{\beta - \gamma}} = 0.$$
(2.4)

(iii) is an immediate consequence of (ii) and (1.1).

**Theorem 2.4.** Let  $C \in \mathbb{R}$ . If f(x) is a function of  $\alpha$ -slow increase for  $\alpha \geq 1$ , then

$$\lim_{x \to \infty} \frac{f(x+C)}{f(x)} = 1.$$
 (2.5)

*Proof.* We only prove the case C > 0, and the case C < 0 can be proved likewise. Applying the Lagrange mean value theorem, we have

$$0 \le \frac{f(x+C) - f(x)}{f(x)} = \frac{Cf'(\xi)}{f(x)},$$
(2.6)

for some  $x < \xi < x + C$ . Combining (2.6) with (iii) in Theorem 2.3 readily yields the limit (2.5). 

 $\Box$ 

Y. SHANG

The following result characterizes the relationship between slowly varying functions (see e.g. [2] p. 275) and those of  $\alpha$ -slow increase. A function L(x) is said to be slowly varying if

$$\frac{L(tx)}{L(t)} \to 1, \tag{2.7}$$

as  $t \to \infty$ , for every x > 0. An application in scale-free networks can be found in [8].

**Theorem 2.5.** Let  $C \in \mathbb{R}$ . If f(x) is a function of  $\alpha$ -slow increase for  $\alpha \geq 1$  and f'(x) is decreasing, then

$$\lim_{x \to \infty} \frac{f(Cx)}{f(x)} = 1, \tag{2.8}$$

that is, f(x) is slowly varying. On the other hand, if f(x) is a slowly varying function with  $\lim_{x\to\infty} f(x) = \infty$  and continuous derivative f'(x) > 0 and f'(x) is increasing, then f(x) is of  $\alpha$ -slow increase for  $\alpha \leq 1$ .

*Proof.* Suppose that f(x) is of  $\alpha$ -slow increase and that C > 1. Applying the Lagrange mean value theorem, we have

$$0 \leq \frac{f(Cx) - f(x)}{f(x)} = \frac{(Cx - x)f'(\xi)}{f(x)}$$
$$\leq \frac{(C - 1)xf'(x)}{f(x)}$$
$$\leq \frac{(C - 1)x^{\alpha}f'(x)}{f(x)},$$
(2.9)

for some  $x < \xi < Cx$ . Combining (2.9) with Definition 1.1 gives the limit (2.8). Now suppose that C < 1. Similarly, we can derive

$$0 \leq \frac{f(x) - f(Cx)}{f(Cx)} = \frac{(x - Cx)f'(\xi)}{f(Cx)}$$
$$\leq \frac{1 - C}{C} \cdot \frac{Cxf'(Cx)}{f(Cx)}$$
$$\leq \frac{1 - C}{C^{\alpha}} \cdot \frac{(Cx)^{\alpha}f'(Cx)}{f(Cx)}, \qquad (2.10)$$

for some  $Cx < \xi < x$ . Combining (2.10) with Definition 1.1 gives the limit (2.8).

On the other hand, assume that f(x) satisfies (2.8), then by taking C > 1, we obtain

$$0 \leq \frac{(C-1)x^{\alpha}f'(x)}{f(x)} \leq \frac{(C-1)xf'(x)}{f(x)} \leq \frac{(C-1)xf'(\xi)}{f(x)} = \frac{f(Cx) - f(x)}{f(x)} \to 0, \quad (2.11)$$

for some  $x < \xi < Cx$  and  $\alpha \leq 1$ . Hence, f(x) is a function of  $\alpha$ -slow increase.  $\Box$ 

Now recall a well-known lemma (see e.g. [6] p. 332).

228

**Lemma 2.6.** If  $s_n$  is a sequence of positive numbers with limit s, then the sequence

$$\sqrt[n]{s_1s_2\cdots s_r}$$

has also limit s.

We conclude the paper by presenting an analogous result for functions of  $\alpha\text{-slow}$  increase.

**Theorem 2.7.** If f(x) is a function of  $\alpha$ -slow increase on the interval  $[a, \infty)$  then the following asymptotic formula holds

$$\sqrt[n]{f(a)f(a+1)\cdots f(n)} \sim f(n), \qquad (2.12)$$

where a is a positive number.

*Proof.* Without loss of generality, we assume f(x) > 1 on the interval  $[a, \infty)$ . Since  $\ln f(x)$  is increasing and positive, we have by integration by parts

$$\sum_{i=a}^{n} \ln f(i) = \int_{a}^{n} \ln f(x) dx + O(\ln f(n))$$
  
=  $n \ln f(n) - \int_{a}^{n} \frac{x f'(x)}{f(x)} dx + O(\ln f(n)).$  (2.13)

From (1.1) and the L'Hôspital rule, we derive that

$$\lim_{x \to \infty} \frac{\ln f(x)}{x} = \lim_{x \to \infty} \frac{f'(x)}{f(x)} = 0,$$
(2.14)

and hence

$$\ln f(n) = o(n). \tag{2.15}$$

If the integral  $\int_a^x \frac{tf'(t)}{f(t)} \mathrm{d}t$  converges, we obtain

$$\lim_{t \to \infty} \frac{\int_a^x \frac{tf'(t)}{f(t)} \mathrm{d}t}{x} = 0.$$
(2.16)

On the other hand, if the integral  $\int_a^x \frac{tf'(t)}{f(t)} dt$  diverges, we have from (1.1) and the L'Hôspital rule that

$$\lim_{x \to \infty} \frac{\int_a^x \frac{tf'(t)}{f(t)} dt}{x} = \lim_{x \to \infty} \frac{xf'(x)}{f(x)} = o(x^{1-\alpha}).$$
 (2.17)

Accordingly, from (2.16) and (2.17) we obtain

$$\int_{a}^{n} \frac{xf'(x)}{f(x)} dx = o(n^{1-\alpha}).$$
(2.18)

Eqs. (2.13), (2.15) and (2.18) imply that

$$\sum_{i=a}^{n} \ln f(i) = n \ln f(n) + o(n), \qquad (2.19)$$

which is equivalent to

$$\frac{1}{n}\sum_{i=a}^{n}\ln f(i) = \ln f(n) + o(1).$$
(2.20)

The proof of the theorem is then complete.

We mention that another generalization of Lemma 2.6 for prime numbers is provided in the work [7].

**Acknowledgments.** The author would like to thank the anonymous referees for a careful reading and evaluating the original version of this manuscript.

#### References

- R. B. Corcino and C. B. Corcino, On generalized Bell polynomials, Discrete Dyn. Nat. Soc. 2011 (2011) Article ID 623456.
- W. Feller, An Introduction to Probability Theory and its Applications, Volume II, John, Wiley & Sons, New York, 1970.
- [3] R. Jakimczuk, Functions of slow increase and integer sequences, J. Integer Seq. 13 (2010) Article 10.1.1.
- [4] R. Jakimczuk, Integer sequences, functions of slow increase, and the Bell numbers, J. Integer Seq. 14 (2011) Article 11.5.8.
- [5] T. Mansour, M. Schork and M. Shattuck, On a new family of generalized Stirling and Bell numbers, Electron. J. Combin. 18 (2011) #P77.
- [6] J. Rey Pastor, P. Pi Calleja and C. Trejo, Análisis Matemárico, Volumen I, Octava Edición, Editorial Kapelusz, 1969.
- [7] Y. Shang, On a limit for the product of powers of primes, Sci. Magna 7 (2011) 31–33.
- [8] Y. Shang, Analyzing the cliques in scale-free random graphs, J. Adv. Math. Stud. 5 (2012) 11-18.

YILUN SHANG

INSTITUTE FOR CYBER SECURITY, UNIVERSITY OF TEXAS AT SAN ANTONIO, SAN ANTONIO, TEXAS 78249, USA

*E-mail address*: shylmath@hotmail.com